

A note on the generalized factorial*

XUN-TUAN SU

College of Science
East China Institute of Technology, Nanchang 330013
China
suxuntuan@gmail.com

DENG-YUN YANG

College of Mathematics and Information Science
Jiangxi Normal University, Nanchang 330022
China

WEI-WEI ZHANG

College of Science
East China Institute of Technology, Nanchang 330013
China

Abstract

The set of the generalized factorials $\{(x|d)_i\}_{i=0}^n$ is a basis of the vector space of all real polynomials of degree at most n , where $(x|d)_i = x(x-d)\cdots(x-id+d)$ and d is a fixed negative real number. In this note, we show that if a polynomial has only real nonpositive zeros in the standard basis, then so does the polynomial having the same coefficients with the former in the basis $\{(x|d)_i\}_{i=0}^n$. This is a generalization of a result in the work of Brenti [F. Brenti, Unimodal, log-concave, and Pólya frequency sequences in combinatorics, *Mem. Amer. Math. Soc.* 81 (1989), no. 413.].

* Supported by NSFC (11226296) and NSFC (11226078), Teaching reform Fund of Jiangxi Province (JXJG-12-82-1), Science and Technology Fund of Jiangxi Provincial Education Department (GJJ13443) and Doctoral Start-up Fund of East China Institute of Technology (201103).

1 Introduction

Let i be a positive integer. The monic polynomial $x(x-1)\cdots(x-i+1)$ is referred to as the *falling factorial*, which is denoted by $(x)^{\underline{i}}$ following Graham et al. [2], i.e.,

$$(x)^{\underline{i}} := x(x-1)\cdots(x-i+1),$$

with a conventional definition $(x)^{\underline{0}} := 1$. It is clear that $(i)^{\underline{i}} = i!$, where $i!$ is the usual factorial of i . Accordingly, the *rising factorial* (or *Pochhammer symbol*, which is conventional in hypergeometric theory) is defined as

$$(x)^{\overline{i}} := x(x+1)\cdots(x+i-1),$$

with $(x)^{\overline{0}} := 1$. Let d be a real number. Define the *generalized factorial* by

$$(x|d)_i := x(x-d)(x-2d)\cdots(x-(i-1)d),$$

and $(x|d)_0 := 1$ (see [4]). For $d \neq 0$, $(x|d)_i = d^i(\frac{x}{d})^{\underline{i}}$. In particular, $(x|1)_i = (x)^{\underline{i}}$ and $(x|-1)_i = (x)^{\overline{i}}$. The generalized factorial has been extensively investigated (see [3, 4, 5, 6]).

Denote by P_n the vector space of all real polynomials of degree at most n . It is easy to see that the sets $\{x^i\}_{i=0}^n$ (standard basis of P_n), $\{\frac{x^i}{i!}\}_{i=0}^n$, $\{(x)^{\underline{i}}\}_{i=0}^n$ and $\{(x)^{\overline{i}}\}_{i=0}^n$ are respectively four bases of P_n . Brenti [1] deeply studied the real zeros of the polynomials under various bases of P_n . Here we state three of his results about the four above-mentioned bases. Assume that the polynomial coefficients $\{a_i\}_{i=0}^n$ in the following results are all nonnegative.

Theorem 1. ([1, Theorem 2.4.3]) *If the polynomial $\sum_{i=0}^n a_i x^i$ has only real and nonpositive zeros, then so does the polynomial $\sum_{i=0}^n a_i (x)^{\overline{i}}$. Moreover, the zeros of the latter are simple and the distance between any two of them is at least 1.*

Theorem 2. ([1, Theorem 2.4.2]) *If the polynomial $\sum_{i=0}^n a_i (x)^{\underline{i}}$ has only real and nonpositive zeros, then so does the polynomial $\sum_{i=0}^n a_i x^i$.*

Theorem 3. ([1, Theorem 2.4.1]) *If the polynomial $\sum_{i=0}^n a_i x^i$ has only real zeros, then so does the polynomial $\sum_{i=0}^n \frac{a_i}{i!} x^i$.*

It is natural to ask whether the three results above can be generalized to the generalized factorial or not. In the next section, we will show that only Theorem 1 has this generalization.

2 Main results

Theorem 1 due to Brenti is a special case of the following result when $d = -1$.

Theorem 4. *Let d be a negative real number and a_0, a_1, \dots, a_n be nonnegative real numbers. If the polynomial $\sum_{i=0}^n a_i x^i$ has only real and nonpositive zeros, then so does the polynomial $\sum_{i=0}^n a_i(x|d)_i$. Moreover, the zeros of the latter are simple and the distance between any two of them is at least $-d$.*

Proof. The proof is modeled after the one of Theorem 2.4.3 in [1]. We will prove the theorem by induction on n . The result is clearly true if $n = 1$. Now suppose that it is true for polynomials of the degree at most n . Let $\sum_{i=0}^{n+1} b_i x^i$ be a real polynomial of degree $n + 1$. Suppose that

$$\sum_{i=0}^{n+1} b_i x^i = b_{n+1}(x + r_1)(x + r_2) \cdots (x + r_{n+1}),$$

where $r_j \geq 0$ for $j = 0, 1, \dots, n+1$. Note that $b_i \geq 0$ since b_i is the i -th the elementary symmetric function of the r_j 's. Let $\sum_{i=0}^n c_i x^i = b_{n+1}(x + r_1)(x + r_2) \cdots (x + r_n)$. Then

$$\begin{aligned} \sum_{i=0}^{n+1} b_i x^i &= (x + r_{n+1}) \sum_{i=0}^n c_i x^i \\ &= \sum_{i=0}^n c_i x^{i+1} + r_{n+1} \sum_{i=0}^n c_i x^i \\ &= \sum_{i=0}^{n+1} (c_{i-1} + r_{n+1} c_i) x^i, \end{aligned}$$

where $c_{-1} = c_{n+1} = 0$. It follows that

$$b_i = c_{i-1} + r_{n+1} c_i, \quad i = 0, 1, \dots, n + 1.$$

Now let $P(x) = \sum_{i=0}^n c_i(x|d)_i$ and $Q(x) = \sum_{i=0}^{n+1} b_i(x|d)_i$. Then

$$\begin{aligned} Q(x) &= \sum_{i=0}^{n+1} (c_{i-1} + r_{n+1} c_i)(x|d)_i \\ &= \sum_{i=0}^{n+1} c_{i-1}(x|d)_i + r_{n+1} \sum_{i=0}^n c_i(x|d)_i \\ &= xP(x - d) + r_{n+1}P(x). \end{aligned}$$

Now using the induction hypothesis for $\sum_{i=0}^n c_i x^i$, we have $P(x) = b_{n+1}(x - s_1)(x - s_2) \cdots (x - s_n)$, where $s_n < s_{n-1} < \cdots < s_1 \leq 0$, and $s_i - s_{i+1} \geq -d$ for $i = 1, 2, \dots, n - 1$. Then it follows from $Q(x) = xP(x - d) + r_{n+1}P(x)$ that $Q(0) \geq 0$, $\lim_{x \rightarrow -\infty} \operatorname{sgn}(Q(x)) = (-1)^{n+1}$, and for $i = 1, 2, \dots, n - 1$,

$$(-1)^i Q(s_i) \geq 0, \quad (-1)^i Q(s_i + d) \geq 0.$$

This implies that $Q(x)$ has a real zero in $[s_{i+1}, s_i + d]$ for $i = 1, 2, \dots, n - 1$, a real zero in $[s_1, 0]$ and a real zero in $(-\infty, s_n + d]$. Hence $Q(x)$ has only simple nonpositive zeros: $\xi_{n+1} < \xi_n < \cdots < \xi_2 < \xi_1 \leq 0$, and $s_i \leq \xi_i$, $\xi_{i+1} \leq s_i + d$ for $i = 1, 2, \dots, n$. Therefore $\xi_i - \xi_{i+1} \geq s_i - s_i - d = -d$. The proof is completed. \square

Remark 1. When d is a positive number not equal to 1, Theorem 2 cannot be generalized analogous to Theorem 1. For example, when $d = 5$, the polynomial $1 + 3(x|5) + 3(x|5)_2 + 5(x|5)_3 + 5(x|5)_4$ has only real zeros:

$$13.8249, 10.1888, 4.98602, 0.000284768.$$

But the zeros of $1 + 3x + 3x^2 + 5x^3 + 5x^4$ are

$$-0.796675, -0.454591, 0.125633 \pm 0.732432\sqrt{-1}.$$

Remark 2. When d is a real number not equal to 0, Theorem 3 does not hold for the generalized factorial. For example,

(1) the zeros of $1 + 5(x)^{\overline{1}} + 6(x)^{\overline{2}} + 45(x)^{\overline{3}} + (x)^{\overline{4}}$ are

$$-41.8659, 1.6718, 1.20591, -0.0118478.$$

But the zeros of $1 + 5\frac{(x)^{\overline{1}}}{1!} + 6\frac{(x)^{\overline{2}}}{2!} + 45\frac{(x)^{\overline{3}}}{3!} + \frac{(x)^{\overline{4}}}{4!}$ are

$$-176.601, -0.0560534, 1.32835 \pm 0.812378\sqrt{-1}.$$

(2) the zeros of $3 + 15(x)^{\overline{1}} + 20(x)^{\overline{2}} + 30(x)^{\overline{3}} + 61(x)^{\overline{4}} + 41(x)^{\overline{5}} + 11(x)^{\overline{6}} + (x)^{\overline{7}}$ are

$$-12.3845, -8.03645, -5.37911, -3.15662, -2.02696, -1.01546, -0.000862455.$$

But the zeros of $3 + 15\frac{(x)^{\overline{1}}}{1!} + 20\frac{(x)^{\overline{2}}}{2!} + 30\frac{(x)^{\overline{3}}}{3!} + 61\frac{(x)^{\overline{4}}}{4!} + 41\frac{(x)^{\overline{5}}}{5!} + 11\frac{(x)^{\overline{6}}}{6!} + \frac{(x)^{\overline{7}}}{7!}$ are

$$-51.5946, -25.1559, -13.5813, -3.89986, -0.0530304, -1.85761 \pm 0.834773\sqrt{-1}.$$

Remark 3. This part is due to the helpful suggestions of an anonymous referee. Brenti [1] considered the transition matrices between different bases. For example, the transition matrix from $\{x^i\}_{i=0}^n$ to $\{(x)^{\overline{i}}\}_{i=0}^n$ is the $(n+1) \times (n+1)$ unsigned Stirling number matrix of the first kind $\mathbf{S1us}_n$ [7, A132393]. It is clear that for a fixed negative real number $d = -|d| < 0$, the transition matrix from $\{x^i\}_{i=0}^n$ to $\{(x|d)_i\}_{i=0}^n$ is the $(n+1) \times (n+1)$ lower triangle matrix $\mathbf{D}_n(|d|)\mathbf{S1us}_n\mathbf{D}_n^{-1}(|d|)$, where $\mathbf{D}_n(|d|)$ denotes the diagonal $(n+1) \times (n+1)$ matrix with $|d|^m$ in the m -th row ($m = 0, 1, 2, \dots, n$). More precisely, write $a(n, k)$ for the coefficients a_k in a polynomial $P(x)$ of degree n , and similarly for $q_d(n, k)$, the coefficients q_k of $P(x) = \sum_{k=0}^n q_k(x|d)_k$. Then we have the following transformation

$$T_{n,|d|} : \vec{q}_{-|d|}(n) = \vec{a}(n)\mathbf{D}_n(|d|)\mathbf{S1us}_n\mathbf{D}_n^{-1}(|d|),$$

where $\vec{a}(n) := (a(n, 0), a(n, 1), \dots, a(n, n))$ and $\vec{q}_{-|d|}(n) := (q_d(n, 0), q_d(n, 1), \dots, q_d(n, n))$.

Here we will concentrate on a group property for the fixed negative real number $d = -|d| < 0$. If we iterate the above-mentioned transformation, then the powers of the matrix $\mathbf{S1us}_n$ appear. Note that there also exist negative powers for the inverse

elements of this transformation group, since the inverse of $\mathbf{S1us}_n$ is known to be the signed matrix $\mathbf{S2s}_n$ with elements $\mathbf{S2s}_n(i, j) = (-1)^{i-j}\mathbf{S2}_n(i, j)$, where $\mathbf{S2}_n(i, j)$ is the usual $(n+1) \times (n+1)$ Stirling matrix of the second kind $\mathbf{S1us}_n$ [7, A048993]. The linear group transformations are then

$$T_{n,|d|}^l : q_{-|d|}^{(l)}(n) = \mathbf{D}_n(|d|)\mathbf{S1us}_n^l\mathbf{D}_n^{-1}(|d|)$$

for $l \in \mathbf{Z}$. The neutral group element $\mathbf{S1us}_n^0 = \mathbf{1}_n$ (the $(n+1) \times (n+1)$ unit matrix).

Similarly, for a fixed positive real number $d = |d| > 0$, we only replace $\mathbf{S1us}_n$ by the $(n+1) \times (n+1)$ signed Stirling number matrix of the first kind $\mathbf{S1s}_n$. Note that the inverse matrix of $\mathbf{S1s}_n$ is the usual $(n+1) \times (n+1)$ Stirling matrix of the second kind.

Acknowledgments

The authors thank the anonymous referees for their helpful suggestions. In particular, the authors appreciate the anonymous referee who gave an important contribution to Remark 3 of this paper.

References

- [1] F. Brenti, Unimodal, log-concave, and Pólya frequency sequences in combinatorics, *Mem. Amer. Math. Soc.* 81 (1989), no. 413.
- [2] R. L. Graham, D. E. Knuth and O. Patashnik, *Concrete Math.*, 2nd ed., Addison-Wesley, 1994.
- [3] T. X. He, Generalized Stirling numbers and generalized Stirling functions, Arxiv: 1106.5251.
- [4] L. C. Hsu, P.-S. Shiue, A unified approach to generalized Stirling numbers, *Adv. Appl. Math.* 20 (1998), 366–384.
- [5] T. Mansour, M. Schork and M. Shattuck, On a new family of generalized Stirling and Bell numbers, *Electron. J. Combin.* 18 (2011), Research Paper 77, 33 pp.
- [6] T. Mansour, S. Mulay and M. Shattuck, A general two-term recurrence and its solution, *Europ. J. Combin.* 33 (2012), 20–26.
- [7] N.J. A. Sloane, *The On-Line Encyclopedia of Integer Sequences*, published electronically at www.research.att.com/njas/sequences/.